
Name____________________________________	
Find	the	derivative.		Do	NOT	simplify.	

	

1ሻ		
ௗ

ௗ௫
ሾݔଶ ൅ ݔ4 െ 5ሿ	

	

	

2ሻ		
ௗ

ௗ௫
ሾ݁௫ ൅ ସݔ ൅ ݁ሿ	

	

	

3ሻ		
ௗ

ௗ௫
ሾtanሺݔሻ ൅ secሺݔሻሿ	

	

	

4ሻ		
ௗ

ௗ௫
ሾ2௫ ൅ 	ሿݔ√

	

	

5ሻ		
ௗ

ௗ௫
ݔ√ݔൣ ൅ 1൧	

	

	

6ሻ		
ௗ

ௗ௫
ቂ
ሺ௫ାଵሻ

௘ೣିଵ
ቃ	

	

	

7ሻ		
ௗ

ௗ௫
ሾarcsinሺ2ݔሻሿ	

	

	

8ሻ		
ௗ

ௗ௫
ሾlnሺݔ ൅ 3ሻሿ	

	

	

9ሻ		
ௗ

ௗ௫
ሾarctanሺ5ݔሻ	ሿ	

	

	

10ሻ		
ௗ

ௗ௫
ቂln ቀ

௫ିଵ

௫ାଵ
ቁቃ	

	

	



11ሻ		
ௗ

ௗ௫
ሾsinሺtan 	ሻሿݔ

	

	

12ሻ		
ௗ

ௗ௫
ሾlnሺcos 	ሻሿݔ

	

	

13ሻ		
ௗ

ௗ௫
ሾݔ െ ݔ ln 	ሿݔ

	

	

14ሻ		
ௗ

ௗ௫
ൣ3௫

మ ୡ୭ୱ௫൧	

	

	

15ሻ		
ௗ

ௗ௫
ሾെݔ arccos 	ሿݔ

	

	

16ሻ		
ௗ

ௗ௫
ሾݔ sinሺݔሻln	ሺݔሻሿ	

	

	

17ሻ		
ௗ

ௗ௫
ଶݔ√ݔൣ ൅ 1య ൧	

	

	

18ሻ		
ௗ

ௗ௫
ቂ
ୱ୧୬௫

௫మାଵ
ቃ	

	

	

19ሻ		
ௗ

ௗ௫
ሾlnሺݔሺݔ ൅ 2ሻሻሿ	

	

	

20ሻ		
ௗ

ௗ௫
ሾtanሺݔଶ െ 1ሻሿ	

	

	

21ሻ		
ௗ

ௗ௫
ሾarctanሺ3ݔሻሿ	

	



	

22ሻ		
ௗ

ௗ௫
ሾln	ሺݔଶ ൅ 	ሻሿݔ

	

	

23ሻ		
ௗ

ௗ௫
ሾarcsin	ሺ1 െ ݁ଷ௫ሻሿ; ݔ ൑

ଵ

ଷ
ln 2	

	

	

24ሻ		
ௗ

ௗ௫
׬ൣ ሺlnሺݐ െ 2ሻ ൅ sec ݐሻ݀ݐ

௫
ଷ ൧	

	

	

25ሻ		
ௗ

ௗ௫
ቂ׬ ݐ√ ൅ ݐଷ݀ݐ

ୱ୧୬	ሺ௫ሻ
ଶ ቃ	

	

	

26ሻ		
ௗ

ௗ௫
ቂ׬ arctanሺln ݐሻ݀ݐ

௫మ

௫ ቃ	

	

	

27ሻ		
ௗ

ௗ௫
ൣඥሺsinሺݔଶሻሻଷ ൅ రݔ2 ൧	

	


